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2014년 3월 39번 정답률 (60%)

1. 

My suggestion is to understand and make use of the changes in people’s strengths and weaknesses as they grow older. 

We can say that useful attributes tending to decrease with age include ambition, desire to compete, physical strength and endurance, and capacity 

for sustained mental concentration. (A) , useful attributes tending to increase with age include experience of one’s field, understanding of people 

and relationships, and ability to help other people without one’s own ego getting in the way. These shifts in strengths result in many older 

workers choosing to devote more of their efforts to supervising, administering, advising, and teaching. (B) , my farmer friends in their 80s spend 

less time on horseback and on

tractors, more time making strategic decisions about the business of farming; my older lawyer friends spend less time in court, more time 

mentoring younger lawyers.

       (A)              (B)

① In other words    For instance

② In other words    Instead

③ Additionally       In contrast

④ Conversely        In contrast

⑤ Conversely        For instance
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2014년 5월 예비수능A형 37번 정답률 (30%)     

2. 

More and more today, English is used by Korean professionals on business in Brazil, by Polish hotel staff welcoming tourists from around the 

world, or by Indian workers who have taken up jobs in the Gulf States. When the role of a language is to be a tool for communication

between non-native speakers, we cannot rationally call it a ‘oreign’language. Who is the foreigner,     (A)     , when a speaker from Chile 

interacts with a colleague from Kazakhstan, using English? In a situation like this, the concept of ‘oreigner’and of ‘oreign language’is not 

applicable. Instead, we have a situation where English is acting as a lingua franca.     (B)     , it is acting as the common language for 

speakers whose mother

tongues are different.

      (A)             (B)

① in addition …… By contrast

② however …… In conclusion

③ for example …… That is to say

④ by contrast …… As a result

⑤ therefore …… Nevertheless
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2014년 5월 예비수능 B형 37번 정답률 (60%)

3.  

Color adds beauty to our lives, but it does more than that. Color serves important signaling functions, both natural and contrived by humans. The 

natural and human-made world provides many color signals that help us identify things. I know a banana is ripe when it has turned yellow and I 

know to stop when the traffic light turns red.     (A)     , color helps facilitate perceptual organization, the process by which small elements 

become grouped perceptually into larger objects. Color perception greatly facilitates the ability to tell one object from another and especially to 

pick out objects within scenes, an ability crucial to the survival of many species.     (B)     , consider a monkey searching for fruit in the forest. 

A monkey with good color vision easily detects red fruit against a green background, but a color-blind monkey would find it more difficult to find 

the fruit. Color vision thus enhances the contrast of objects that, if they didn’t appear colored, would appear more similar.

     (A)               (B)

① In addition …… However

② In addition …… For example

③ In contrast …… Similarly

④ Nonetheless …… Moreover

⑤ Nonetheless …… On the other hand
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2014년 9월 A형 37번 정답률 (40%)    

4. 

Pride is a sense that I am better than others, I have the ultimate beauty, talent, and answers, and I alone should rule the world. Pride causes individuals to be 

out of touch with the reality of who they truly are and of what really brings happiness. Pride prevents individuals from experiencing their true value or the 

true value of others. A sense of self-worth,     (A)     , provides calmness and enjoyment when dealing with all kinds of individuals. 

When individuals have a true sense of self-worth, they do not need to compare themselves with others, to tear others apart or feel superior.

    (B)     , there is an experience of oneness and sharing. By recognizing where one’ true value lies, one simultaneously recognizes the true value of others.

     (A)              (B)

① on the other hand    Instead

② on the other hand    Unfortunately

③ for example         Moreover

④ for example         Instead

⑤ in addition          Unfortunately
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2013년 9월 30번 정답률 (60%) 

5. 

While there are aesthetic and ethical reasons for preserving biodiversity, there are practical considerations as well. We depend on many other 

species for food, clothing, shelter, oxygen, soil fertility ―^ the list goes on and on. In the United States, 25% of all prescriptions from

pharmacies contain substances derived from plants.     (A)     , two substances effective against Hodgkin’ disease and certain other forms of 

cancer come from the rosy periwinkle, a flowering plant native to the island of Madagascar. Madagascar alone harbors some 8,000 species of 

flowering plants. Unfortunately, Madagascar has lost 80% of its forests and about 50% of its native species. Madagascar’ dilemma represents that 

of much of the developing world. The island is home to over 10 million people, most of whom are desperately poor and hardly in a position to 

be concerned with environmental conservation.     (B)     the people of Madagascar as well as others around the globe could derive vital benefits 

from the biodiversity that is being destroyed.

      (A)             (B)

① In contrast …… Indeed

② In contrast …… Thus

③ In short …… Finally

④ For instance …… Yet

⑤ For instance …… Similarly
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2013년 수능 29번 정답률 (60%)        

6.

In physics, scientists invent models, or theories, to describe and predict the data we observe about the universe. Newton’ theory of gravity is one 

example; Einstein’ theory of gravity is another. Those theories, though they describe the same phenomenon, constitute

very different versions of reality. Newton,     (A)     , imagined that masses affect each other by exerting a force, while in Einstein’ theory the 

effects occur through a bending of space and time and there is no concept of gravity as a force. Either theory could be employed to

describe, with great accuracy, the falling of an apple, but Newton’ would be much easier to use.     (B)     , for the calculations necessary for 

the satellite-based global positioning system (GPS) that helps you navigate while driving, Newton’ theory would give the wrong answer, and so 

Einstein’ must be used.

        (A)              (B)

① for example …… On the other hand

② for example …… As a result

③ therefore …… As a result

④ moreover …… Likewise

⑤ moreover …… On the other hand
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1. [출제의도] 빈칸 연결사 추론 [정답] ⑤  

나이가 들어가면서 사람들의 강점과 약점의 변화를 이해하고 이용하라는 것이 나의 제안이다. 나이가 들 어가면서 감소하는 경향이 있는 유용한 특성에는 야 망, 경

쟁하려는 욕망, 체력과 인내심, 그리고 정신적 집중력을 유지하는 능력이 포함된다고 말할 수 있다. 반대로, 나이가 들어가면서 증가하는 경향이 있는 유 용한 특성

에는 자기 분야의 경험, 사람과 관계에 대한 이해, 자기 자아의 방해를 받지 않고 다른 사람을 도 와주는 능력이 포함된다. 이러한 강점의 변화는 많은 나이 든 근

로자들이 감독, 관리, 조언, 그리고 가르치 기에 더 많은 양의 노력을 쏟도록 결정하게 한다. 예 를 들어, 80대의 농부인 내 친구들은 말을 타고 트랙 터를 모는 

데는 시간을 덜 보내고, 농사일에 대한 전 략적 결정을 내리는 데에 더 많은 시간을 보낸다. 나 이든 변호사 친구들은 법정에서 시간을 덜 보내고, 더 젊은 변호사

들에게 조언해 주는 데에 시간을 더 보낸 다. make use of ~을 이용하다 attribute 특성, 속성 endurance 인내심 sustained 지속된 get in the 

way 방해되다 devote (노력·돈·시간 따위를) 바치다 administer 관리하다 strategic 전략적인 court 법정 

2. [소재] 국제 공통어로서의 영어 사의 증가 [정답]③ 

[해석] 오늘 날 브라질에 있는 한국인 사업 전문가들, 전 세계에서 오는 관광객들을 맞이 하는 폴란드인 호텔직원들이나, 페르시아 만 연안 제국에서 직업을 택한 

인도인 근 로자들에 의해 영어가 점점 더 많이 사된다. 한 언어의 역할이 비원어민들 간의 의사소통 도구가 되는 것일 때 우리는 그것을 ‘외국’어라고 부를 수 없는 

것이 온당 하다.예를들면, 칠레 출신의 한 화자가 카자흐스탄 출신의 동료와 영어를 사하 여 상호대화를 나눌 때 누가 외국인인가? 이와 같은 상황에서는 ‘외국인’과 

‘외국어’ 의 개념이 적될 수 없다. 그 대신에, 우리는 영어가 ‘ l i n g u a f r a n c a (국제 공통 어)’로 역할을 하는 상황에 처한다. 다시 말해, 그것은 국

어가 다른 화자들을 위 한 공통어로 역할을 하고 있다.

[해설] 빈칸 (A)는 앞에서 영어를 외국어라 부를 수 없는 것에 대해 서술했고 뒤에서는 , 칠레 출신과 카자흐스탄 출신의 화자들이 사하는 영어는 외국어가 아니라

고 했으 므로 구체적인 예시 관계의 연결사(for example)가 들어가야 적절하며, 빈칸 (B)는 영어가 ‘ l i n g u a f r a n c a (국제 공통어)’로 역할을 한

다는 내을 쉽게 바꿔서 다시 표현한 것이므로 환언의 연결사(That is to say)가 들어가야 적절하다. [어휘] Polish 폴란드인의, 폴란드의 the Gulf States 

페르시아 만 연안 제국( ) 諸國 rationally 온당하게, 합리적으로 interact with ~와 상호작하다 colleague (같은 직업의) 동료 applicable 적될 수 있
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는 lingua franca 국제(혼성) 공통어 mothertongue국어

3. [소재] 색의 인식 [정답] ② [해석] 색은 우리의 삶에 아름다움을 더해주기도 하지만, 그 이상의 것을 더해 준다. 색은 중요한 기호적 기능을 수행하는데, 그 기

능은 자연 발생적이기도 하고 인간에 의해 만들어지기도 한다. 자연발생적이기도 하고 인위적이기도 한 세상은 우리가 물체를 식별하는데 도움을 주는 많은 색상 기

호를 제공해준다. 바나나가 노란색으로 변할 때 나는 바나나가 익었다는 것을 알며, 신호등이 빨간 색으로 변할 때 나는 멈춰야 하는 것을 안다. 게다가, 색은 작은 

요소들이 뭉쳐서 지각적으로 더 큰 물체가 되는 과정인 지각 구성을 촉진하는데 도움을 준 다. 색의 지각 능력은 많은 종들의 생존에 중요한 능력인 한 물체와 다

른 물체를 구별하 고, 특히 (눈으로 보는) 장면 내에서 물체를 고르는 능력을 크게 촉진해준다. 예를 들어, 숲속에서 과일을 찾는 원숭이를 생각해보라. 좋은 색상 

시야를 가진 원숭이는 초록색 배경 속에서 빨간 과일을 쉽게 감지해내지만 색맹인 원숭이는 그 과일을 찾는 것이 더 어렵다는 것을 알게 될 것이다. 색각은 이런 

식으로 채색된 것으로 보이지 않으면 더욱 비슷하게 보 일 물건들의 대조를 부각시킨다.

[해설] (A) 앞에는 세상이 우리가 식별할 수 있는 많은 색상을 제공한다는 내이 나오고 그 뒤 , 에는 색의 작은 요소들은 지각 구성을 촉진시킨다는 또 색다른 기

능이 추가적으로 이어지 므로, 첨가의미의 연결사 In addition(게다가)이 적절하다. (B) 앞에서는 색의 지각 능력이 많은 종들이 생존하는데 중요한 능력이라는 

내이 나오 고, 그 뒤에는 숲속에서 과일을 찾는 원숭이의 예가 이어지고 있으므로 예시의미의 연결 , 사 For example(예를 들면)이 적절하다. [어휘]

contrive 고안하다, 발명하다 detect감지하다 color-blind색맹의

4. 출제의도 연결사 추론  [정답] ① 

[해석] 자만심은 내가 다른 사람들보다 낫고 내가 최고의 미모 재능 해답을 갖고 있으며 , , , , 나만이 세상을 지배해야 한다는 생각이다 자만심은 사람들로 하여

금 자신이 진정 . 누구인지 그리고 무엇이 행복을 가져다주는지에 대한 현실감을 잃게 한다 자만심 . 은 사람들로 하여금 자신의 진정한 가치나 다른 사람들의 진정

한 가치를 경험하지 못하게 한다. 반면에 자존감은 모든 종류의 사람들을 다룰 때에 평안함과 즐거움을 , 준다 진정한 의미의 자존감을 가질 때에 사람들은 자신을 

다른 사람들과 비교하거 . , 나 다른 사람들을 헐뜯거나 우월감을 느낄 필요가 없다 , , . 그 대신에 일체감과 나눔 , 의 경험이 있다 자신의 진정한 가치가 어디에 
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있는지 인식함으로써 동시에 다른 . , 사람들의 진정한 가치도 인식하게 된다. 풀이 [ ] 자만심과 대비시켜서 자존감에 대해 설명하고 있으므로 반면에 가 빈칸에 

적 (A) , ‘ ’ 절하다 자신을 다른 사람들과 비교하거나 다른 사람들을 헐뜯거나 우월감을 . (B) , , 느낄 필요를 느끼는 대신에 일체감과 나눔의 경험을 갖게 된다

고 해야 하므로 대 , , ‘ 신에 가 빈칸에 적절하다 반면에 불행하게도 예를 들면 더욱이 ’ . - ② ③ ④ 예를 들면 대신에 게다가 불행하게도 - ⑤ [Words and 

Phrases] 최고의 궁극적인 현실을 모르다 ultimate , be out of touch with reality 자존감 자부심 일체감 일치 self-worth 

5. [출제의도] 연결사 추론 [정답] ④ 

[해석] 생물다양성을 보존하는 심미적이고 도덕적인 이유들이 있지만, 실질적인 고려사항 들도 또한 있다. 우리는 의식주, 산소, 그리고 토양의 비옥함을 많은 다른 

종에 의 존하는데, 그 목록은 계속 된다. 미국에서는 약국에서 조제되는 모든 처방약의 25% 가 식물에서 얻은 물질을 포함하고 있다. 예를 들면, 호지킨병과 어떤 

다른 형태의 암에 효과가 있는 두 가지 물질들은 Madagascar 섬이 원산지인 화초인 rosy periwinkle(매일초)에서 나온다. Madagascar에만 약 8,000

종의 화초들이 자생한 다. 불행히도 Madagascar는 80%의 산림과 약 50%의 토착종을 잃었다. Madagascar의 딜레마는 개발되고 있는 세계의 많은 부분의 

딜레마를 대표하고 있 다. 그 섬은 천만 명이 넘는 사람들의 집인데, 그들 중 대부분은 몹시 가난하고 환 경 보존에 관심을 둘 위치에 전혀 있지 않다. 그러나 전 

세계의 다른 사람들뿐만 아니라 Madagascar 사람들은 파괴되고 있는 생물의 다양성으로부터 중대한 이득 을 얻을 수 있다. [풀이] (A) 약국에서 처방되는 약들 

중 식물에서 나오는 약들에 대한 구체적인 예시가 이 어지고 있으므로 For example이 적절하다. (B) Madagascar 섬사람들이 환경에 관 심을 둘만한 입장

에 있지 않지만 생물다양성으로부터 많은 이익을 얻을 수 있다는 문맥이므로 역접의 연결사 Yet이 적절하다. [Words and Phrases] aesthetic 심미적인    

 ethical 윤리적인     biodiversity 생물 다양성    fertility 비옥함    prescription 처방약    harbor 정박하다, 자생하다

6 .[출제의도] 연결사 추론 [정답] ① 

[해석] 물리학에서, 과학자들은 우주에 관해 우리가 관찰하는 자료를 설명하고 예측하기 위해서 모형이나 이론을 만든다. 뉴턴의 중력 이론이 한 가지 예이고, 아인

슈타인의 중력 이론이 또 다른 예이다. 그 이론들은 비록 같은 현상을 설명하고 있지만, 현실 에 대한 아주 다른 견해를 구성한다. 예를 들어, 뉴턴은 질량이 힘을 
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발휘함으로써 서로에게 영향을 미친다고 생각했다. 반면에, 아인슈타인의 이론에서는 공간과 시간 의 구부러짐을 통해 그 결과가 일어나며, 힘으로서의 중력의 개념

이 없다. 둘 중 어 느 이론도 사과가 떨어지는 것을 아주 정확하게 설명하는데 사용될 수 있을 것이지 만, 뉴턴의 이론이 사용하기가 훨씬 더 쉬울 것이다. 반면에, 

운전하는 동안 장소를 찾는 것을 도와주는 인공위성에 기반을 둔 전(全) 지구 위치 파악 시스템(GPS)을 위해 필요한 계산을 위해서는, 뉴턴의 이론이 잘못된 정

답을 줄지도 모른다. 그래서 아인슈타인의 이론이 사용되어야 한다. [풀이] (A) 뉴턴과 아인슈타인의 이론을 구체적으로 예를 들어 설명하고 있으므로, for 

example이 적절하다. (B) 빈칸 앞에는 뉴턴의 이론이 사용하기 쉽다고 했으나, 빈칸 뒤에는 뉴턴의 이론 이 잘못된 정답을 줄지도 모른다고 했으므로, 상반되는 

내용을 연결하는 On the other hand가 적절하다. [Words and Phrases] physics 물리학  predict 예측하다  observe 관찰하다  gravity 중력  

phenomenon 현상  constitute 구성하다  mass 질량  exert 발휘하다  concept 
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